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Section Id : 966231389
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Section type: Online
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Number of Questions: 20
Number of Questionsto be attempted: 20

Section Marks: 20



Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 966231439
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9662319651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
From the given alternatives, select the word which CAMNINOT be formed usirg the letters of the Ziverl wiord,

REIMEUERSED
Options:

1. ¥ BURIED
2. % SUREID
3. ¥ BURST

4. % DEERIS

Question Number : 1 Question Id : 9662319651 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Terr oy Tt § € 9 Seg A0 ST 0 T sTeg o araR T WA S el a7 G gl

REIMEURSED
Options:

1. ® BURIED
= % SUREID
3. ¥ BURST

4. % DEERIS

Question Number : 2 Question Id : 9662319652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd word from the given alternatives.

Options:

1. % Paragraph
2. % Sentence
3. % Word

4. ¥ Digit

Question Number : 2 Question Id : 9662319652 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Trieriad we | fou my fomeut & & fouw aeg w1 g

Options:

1. % R
2. % g
3. % ieg



4. ¥ amw

Question Number : 3 Question Id : 9662319653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 the fOllDWiﬂg questiorn, select the odd letter [letters from the Ziven alternatives,

Options:

1. % LOUD
2 ¥ IMSA
2% DGMY
4 % SVEEK

Question Number : 3 Question Id : 9662319653 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferaT wa o o my et # & Tuy arye) arert @& gim

Options:

1. % LoUD
2. ¥ MSA
2% DGMY
4. % SVEK

Question Number : 4 Question Id : 9662319654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the fOllOV-.?iﬂg qQuestion, select the related letters from the given alternatives.

LT AR Y
Options:
1. ¥ FF
2. % FR
3% GK
4 % GR

Question Number : 4 Question Id : 9662319654 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T wg # o my Hewedt o & Heted el w1 giam
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Options:
1. ¥ FF

2 % FR
2% GK
4 % GR

Question Number : 5 Question Id : 9662319655 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In a certain code language, ‘ROBAT' is written as MWW What is the code for "CRANE' in that code
language?

Options:

1. ¥ HMVIZ
2. % ¥MUIZ
2% YINWIA
4. % YNW]E

Question Number : 5 Question Id : 9662319655 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U AE w9 H ROEBAT &1 MIWVO' 5T AT 81 560 #ig vmT # 'CRANE &7 F1 &7 &7
Options:

1. % HMVIZ

2. % HMUIZ

2% YMWA

4. * YMNWIE

Question Number : 6 Question Id : 9662319656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a certain code language, 'TRACKER' is written as ‘SJDZ55. What is the code for ‘POINTG in that code
language?

Options:

1. % HROHFPO
2. % [TP]JOF
2. % ITFIQF
4. ¥ HSOHPO

Question Number : 6 Question Id : 9662319656 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T AE w9 H, TRACKER &1 'SJDZSS o FET 81 56 ®i AT # POINTG 1§18 #4757

Options:

1. % HROHPO
2. % [ITP]JQF
2. % [TFIQF
4 % HSCOHPO

Question Number : 7 Question Id : 9662319657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Five articles H, M, M, P and O are kept one above the other ot necessarily in the same order). There are two
articles between P and M. There are two articles between H and Q. His abowe O, O 15 just below P How rmany
articles are between M and oY

Options:
1. %2
2 %1
3.¥ 3



4. % 0

Question Number : 7 Question Id : 9662319657 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
O aequ H, M, N, P J9I7 C U & ST U CET T 8 (S 51 ol gat wd H gl P 39T M & Hey 3 aequ 81 ®H: H Jem Q &

M Eraequ e H, Q%m%}r@ P o &1 T 8l
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Options:
1. %2
2 %1
3.9 3
4 %0

Question Number : 8 Question Id : 9662319658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question below are given some staternents followed by some conclusions based on those
staternents. Taking the given statements to be true even if they seem to be at variance from commonly known
facts. Read all the conclusions and then decide which of the given conclusion logically follows the given
Statermnents.

Staternents:
I. Sorme white are blaclk.
II. S5ome red are white,

COnClusion.

[ All red are black.

IT. Mo red is black.

III. &ll Black are white.

Options:

1. * Both conclusion [ and IT follow
2. % Both conclusion IT and T follow
2. % Only conclusion I follow

4 % MNeither Conclusion follomw

Question Number : 8 Question Id : 9662319658 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1t Tem My wer g w39 ag, 3 el T AT sy o T 9 T T et @Rt 6, T 99 9 A
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-
1. FF THE FIW 2]
II. FF AT A0 2

Options:

1. % gt e | 27 11 e @ 5l
2 % gt iy 11 T2 I Sre @ gl
3. ® drael Tead 11 STgaEeor &eaT gl



4 & g o7 T argEe gl FaT 8

Question Number : 9 Question Id : 9662319659 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the following question, four number pairs are given. The number on left side of (-) is related to the number
of the right side of {-) with some Logic (Rule jEelation. Three are similar on basis of same Logic /Rule (Relation.
Select the odd one out from the given alternatives.

Options:

1. % 7-23
2. % 32-11
3.% 11-35
4 ¥ 17 -54

Question Number : 9 Question Id : 9662319659 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 7-23
2. % 3-11
2% 11-35
4 % 17 -54

Question Number : 10 Question Id : 9662319660 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 the following question, select the related nurmber from the given alternatives.

19: 2361127
Options:

1. % 196

2. % 170

3. ¥ 169

4. % 226

Question Number : 10 Question Id : 9662319660 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TaimET v | o my Hwedt o & dete wear wf g
19:361 127

Options:

1. % 196

2. % 170
3. ¥ 189
4. ® 226



Question Number : 11 Question Id : 9662319661 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ev interchanging which two signs the equation will be corract?

18+ 12 xE7 + 29 -87 =-180
Options:

1. % xand +

2 ¥ wand -

3. % xand +

4 % -and +

Question Number : 11 Question Id : 9662319661 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o of gt & 2o H URE Ig e OF SHIE0T dR 1 5 ATy

18+ 13 x 67 + 29 - 87 = -180
Options:

1% x Fur+

2. % T -

3.F T -

4. % =g+

Question Number : 12 Question Id : 9662319662 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ev interchanging the given two signs which of the following equation will be correct?

+and =

Options:

1. % 49+7+11 x3-16=24
Z % 19+12+4-16 x4 =57
3 ¥134+9-6x3-43=-12
4 % 124+5-18+9x6 =9

Question Number : 12 Question Id : 9662319662 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

U T o gl w1 A § T age W R | # i AT AH T w5 gy

= 74T =

Options:

1. % 497 +11 x3-16 =24
2 ® 194+12+4-16x4=57
2V 13+9+-6x3-43=-12
4 # 1345-18+-9x6=29

Question Number : 13 Question Id : 9662319663 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



In the following question, select the number which can be placed at the sign of question mark (7) from the
Ziverl alternatives.

11
6

13
18

= | =1 | D |
Sh|th| =10

Options:
1. % 20
2 %12
3% B
4 ¥ 2

Question Number : 13 Question Id : 9662319663 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TraferaT na 8 for my et # & weg v (7) 3F S99 U oI TR ST w g

11
6

13
18

= | =1 | D |
Sh|th| =10

Options:
1. % 20
2 %12
3% B
4 & 2

Question Number : 14 Question Id : 9662319664 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
H7@32@2=327and 0@ 1 @2 =120 thenE@4@0 ="

Options:
1. % 480
=z % 48
3. ¥ 408
4. % g40

Question Number : 14 Question Id : 9662319664 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A7 @@ 2 =327 qNM0O@ 1 @2 =1205 TE@4@0="7

Options:
1. % 480

2. % 48
3. ¥ 406



4 ® 540

Question Number : 15 Question Id : 9662319665 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Identify the diagram that best represents the relationship among the given classes.

Leawes, Bat, Ball
Options:

00O
O

(©)o
G

o
&

Question Number : 15 Question Id : 9662319665 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T W T AT At T T A @ S @ Herel o R e AT g
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Options:

OO
O

(©)o
@D

P
i




Question Number : 16 Question Id : 9662319666 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Karmlesh starts walking towards south and walks 20 km. He turns left and walks 5 ki He again turns left and
walks 8 kil In which direction and how far is he form his starting point?

Options:

1. ¥ 13 km, north - east
2. % 13 km, south

2 % 13 km, south - east

4. % 13k, south - west

Question Number : 16 Question Id : 9662319666 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FHEIAT STAT BT & AT ST 4T 5 997 20 Al I+a1 81 95 a4 §=d71 5 32 S . Al =ea1 81 95 U9 o g2dT1 3 997 8§ T
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Options:

1. % 13 fpdr, 3o0-gd

2. % 13 Tt i

z. ¥ 13 AT, gigr - o
4, % 13 Wp AT, e - ok

Question Number : 17 Question Id : 9662319667 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
By folding the given paper, which of the following cube cannot be formed?

R|P
LINIA

Options:

<>



<>

3 ®

<>

g4 o

Question Number : 17 Question Id : 9662319667 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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R|P
LINJA

Options:

Question Number : 18 Question Id : 9662319668 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd figure from the given alternatives.

Options:



LN
L2
Y
iz

Question Number : 18 Question Id : 9662319668 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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™
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Question Number : 19 Question Id : 9662319669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, select the odd figure from the given alternatives.

Options:



Question Number : 19 Question Id : 9662319669 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tt ma #, fow My faewet # & fuw smgla &1 g

Options:

Question Number : 20 Question Id : 9662319670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



& piece of paper is folded and punched as showr below in the question figures. From the given answer
figures, indicate how it will appear when opened?

'j u:.,.. m

S R

Options:
o o
o (o]
1. ¢
o o
o o
.
o (s}
o o
=z ®
o] (o]
o Q
4 #®

Question Number : 20 Question Id : 9662319670 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
o o
o] o]
1. ¢
o o
(o] (o]
.
o] o
o o



[s] [s]
4 %
General Awarerness
Group Number : 2
Group Id: 966231275
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0
General Awarensss
Section Id : 966231390
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20
Display Number Pane: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 966231440
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 9662319671 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Meenalshi Termple 15 1ocated in which state?

Options:

1. % Kerala

2. % Tarmnil Nadu
3. % Karnataka
4. % Goa

Question Number : 21 Question Id : 9662319671 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ATt Ao Tore e | e 87



Options:

1. % 3

2  FiwEE
3. ® glcw
4 % mEr

Question Number : 22 Question Id : 9662319672 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following festival is celebrated in Rajasthan?

Options:

1. % Rann Utsav
2. % Cnam

2. ¥ Kajli Teej
4. % Porgal

Question Number : 22 Question Id : 9662319672 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T | gieiEe # & @9 a1 s 7= 9e T 87

Options:
1. % ¥ Joad

= ® g
2. ¥ et A
4. ® gime

Question Number : 23 Question Id : 9662319673 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ea Pormblang Nongkremmn festival is celebrated in which state?

Options:

1. ¥ Meghalaya
2. % Cdisha

2. % West Bengal

4 # Az=am

Question Number : 23 Question Id : 9662319673 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T TIFATT ATH TR e T | §TaT AaT 57

Options:

1. & T

2. % afifEam

3. ® gham aTe
4, % a9y

Question Number : 24 Question Id : 9662319674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



_____ for any firrm are its debts or what it owes to others.
Options:

1. ® Assets

= ¥ Liabilities

3. % Capital

4. % Zash Flow

Question Number : 24 Question Id : 9662319674 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TR R T T OGS & AT 95 AT gaKl & F9TaT 8l
Options:

1. % gleamar
2. ¥ g
z % gt

4. ¥ O MR

Question Number : 25 Question Id : 9662319675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
For which of the following crops does government fix MSPMinirnum Support Price)?

I. Paddy
I1. Jowar
I11I. Bajra

Options:

1. ®¥ landll

2 % [TandIll
2. % Il andl

4. %1, 11 and III

Question Number : 25 Question Id : 9662319675 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25
FaimET # & o wae & o0 SR e (=Eaw meie gr 39 Fd T e

[ &
II. =ame
II1. =TT

Options:

1. % I d9mll

2. % 11 q9rlll
I % 101 Tl

4. %1, 11 g9l

Question Number : 26 Question Id : 9662319676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Disease caused by iron defiCiEﬂC‘j.F 15 called

Options:



1. ® Goitre
Z % Scurvy
3. ¥ Anaemia
4. % Rickets

Question Number : 26 Question Id : 9662319676 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T W HT & §I aTe T

Options:

1. % TELT
2 % Tl
3. ¥ ahdT
4. % T

Question Number : 27 Question Id : 9662319677 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
colourad clothes will be most effective in surmmer.

Options:

1. ® Elack

= ¥ White

3. % Red

4. % Sky EBlue

Question Number : 27 Question Id : 9662319677 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o B i e e i

Options:

1. % Tt

2 ¥ Ay

3. % He

4. % TEHET ST

Question Number : 28 Question Id : 9662319678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The destruction of the soil cover is called

Options:
1. % Soil Erosion

= % Soil Spoiling
3. % Soil Conservation

4 % Abrasion

Question Number : 28 Question Id : 9662319678 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tt & ameRmT F AR g W ______ FET AET 21



Options:

1. & a3

e A D T
3. ® mEr-any
4. % gjor

Question Number : 29 Question Id : 9662319679 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_____ is separated from India by a narrow channel of sea, formed by Falk Strait and the Gulf of Mannar.

Options:

1. % Barngladesh
2. % Afghanistan
3. % Pakistan

4 % 5ri Lanka

Question Number : 29 Question Id : 9662319679 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_____ WL & U7 SAerare 8 A &1 WeT &R & TS & T G0 e & fermia g1

Options:

1. % e

2 % amEmiET
3. % qifeea
4. Tt Fa

Question Number : 30 Question Id : 9662319680 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which Indian river is krown as Tsangpo in Tibet?

Options:

1. ® Ganga

2. % Krishna

2. ¥ Erahmaputra

4 * Kaweri

Question Number : 30 Question Id : 9662319680 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Torey AT S & Tdead | cETIT & AT AT A9T 57

Options:
1. % T
= % puoy
3 ¥ FEF
4. % T

Question Number : 31 Question Id : 9662319681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Eattle of Plassey was fought in which year?
Options:

1. % 16850

Z % 1750

3. % 1857

4. % 1757

Question Number : 31 Question Id : 9662319681 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TATET T ASTs ohd od | wal e ot
Options:

1. % 1850

2 % 1750

3. % 1857

4 & 1757

Question Number : 32 Question Id : 9662319682 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which territory was annexed by Subsidiary Alliance?

Options:

1. ¥ Awadh
= % Satara
3. ® Siklam
4. % Berigal

Question Number : 32 Question Id : 9662319682 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

G TEee o &1 T 4 O e [opa] 11T 17
Options:

1. sy

2. % |

= % g

4 ® g

Question Number : 33 Question Id : 9662319683 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ghazi Malik was the founder of the dynasty.

Options:

1. ®¥ Mughal

= ¥ Tughlag
3. % Mongols
4. % Maurvar

Question Number : 33 Question Id : 9662319683 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
T AT _____ TSI T G 41T
Options:

1. * gme

2. ¥ JIAE

3 % e

4 % O

Question Number : 34 Question Id : 9662319684 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
‘Statue of Unity’ is a statue of which of the following personality?

Options:

1. % Mahatma Gandhi

Z % BR Ambedkar

2. #® Vinayak Damodar Savarkar
4. % Sardar Vallabhbhai Patel

Question Number : 34 Question Id : 9662319684 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ty ST R Rt i & e afeie & o
Options:

1. % mgreAr meft

= O ) L T

3. ® TSHTw TIHIST 9ERE

4 ¥ IR TedTqE Toe

Question Number : 35 Question Id : 9662319685 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Mational Agri-Food Biotechnology Institute, Mohali has done genome editing on which fruit using
CRISFR [Cass techinique?

Options:

1. % Apple
= % Banana
2. ® Mango
4. % Crange

Question Number : 35 Question Id : 9662319685 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
R T ST el Wik, §e, Higlet + CRISPR | Cas® dob i @7 JUai oid §U e el T Sii=10 Jumes fora g7

Options:

1. % &5
o & e
3% 3w
4. % wae



Question Number : 36 Question Id : 9662319686 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Fart IH of the Indian Constitution deals with
Options:

1. % Panchayats

2 % Municipality
3. # Elections

4. % Citizenship

Question Number : 36 Question Id : 9662319686 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
WTCE T |IereT &7 AT X o HeATE 31

Options:
1. t=maat
= % e urieTsT

3 % A
4. ¥ quTivEar

Question Number : 37 Question Id : 9662319687 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_____ means citizens have cormplete freedom to follow any religion.

Options:

1. ¥ Republic
= ® Soversign
3. % Liberal

4. % Secular

Question Number : 37 Question Id : 9662319687 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_____ T aref g Tor ATTiveRt T Tewet ot end @ UTer @ T OE Ea T g

Options:

1. % mmEg

2. ® Wca-Tmyg
2 ® wFdadr

4 o ey

Question Number : 38 Question Id : 9662319688 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Siklarn was added to the Indian Union through which amendrment act?

Options:
1. ¥ 10th

2. ¥ 3Z6th
3. % 101st



4. % Z0th

Question Number : 38 Question Id : 9662319688 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ty EaTer STt @ A T W IR T He § ST T e

Options:

1. % 104
2 ¥ 2649
3% 1014
4 % 20497

Question Number : 39 Question Id : 9662319689 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following pairs of player - sport is NOT Matched Correctly?

I. shikhar Dhawan - Cricket
II. F.R. Sreejesh - Hockey

III. Vijendar Singh - Wrestling

K" NEEI"El_j Chopra - Jawelin Throws

Options:
1. %1

2. %11
3. VI
4 % IV

Question Number : 39 Question Id : 9662319689 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e # | & a7 ae! - @9 T g o § §d A1 @l a7

1. Tt e - Topehe
I1. OT. 37T, &ffetar - STehT

I11. g T - FadT
I?.ﬁﬁﬁw—%ﬁﬁﬁ

Options:
1. %1

2. %11
2. VI
4 % IV

Question Number : 40 Question Id : 9662319690 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwho among the following was awarded with Dronacharya &Award in 2018 in Table Tennis?

Options:
1. % Shri & Srinivasa Rao
2. % Shri Taral Sinha

3. % Shri V.R. Beedu



4. % Shri Jiwan Kurmar Sharma

Question Number : 40 Question Id : 9662319690 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
A S H 2018 H g e | T ST i T ar?

Options:

1. % St =i i
o % ot e WegT

3. % et W g
4. % off Sfrem gaw st

Arithrmetic Alality

Group Number : 3
Group Id : 966231276
Group Maximum Duration : 0
Group Minimum Duration : 0
Revisit allowed for view? : No
Revisit allowed for edit? : No
Break time: 0
Group Marks: 20
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmmetic Ability

Section Id : 966231391

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 966231441
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9662319691 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
4 2
What is the value of: 3+45 3-.5
5-23

Options:



= (<5 +/6-A)
Tz (VE+25-20)

i[:ﬁ:-:q‘i-s 5-2415)
26 -
=L

T (2434 45)

4 %

Question Number : 41 Question Id : 9662319691 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

4 2
3+45 3_45
S ih FT AH FT 82

Options:

2 (4 +5-1B)

1 ®

j:.g[ﬁﬁz 5 -zﬂ]

) %(sz-zﬁ-sﬁ-w'l—s]
3.

T (2454 45)

4 %

Question Number : 42 Question Id : 9662319692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Jg+ﬁ X+3

Ifx= ‘hat i e
ﬂ then what is the value of: 5
Options:
S
1 ® vz



(2 +342)

Question Number : 42 Question Id : 9662319692 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

_V6+43 5 o X+3
uﬁx_m%,mx_jﬂm:rwt%?

Options:

3
1 % V2

(2 +342)

l{:'-.,."i+ 3)

F

b
g{

Question Number : 43 Question Id : 9662319693 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

What is the value of:\/;rg 4 6m—J44+ lﬁ’ﬁ

Options:
| % 64247

s o VIO —VT -4

. % VIO +V7+6

x 14—+7

4,



Question Number : 43 Question Id : 9662319693 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

73 + 6370 — |44 + 16y7 T AT T g7

Options:

1 B 6+2ﬁ
> o VIO—VT—4
VIO +V7 +6

4w 14—+/7

Question Number : 44 Question Id : 9662319694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

After giving two successive discounts of 10% and 15%, a seller sells a chair for Rs. 765 What is the marked
price of the chair?

Options:

1. * Es, 900
= % Rs 1000
2. % Rs 1200
4 % Rs 1050

Question Number : 44 Question Id : 9662319694 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e TearaT 10% 9T 15% &1 S il T o W Uw $ol @ 765 20 & ool 81 Fel @7 sifhd g 747 57

Options:

1. % 900 w2
2. ¥ 1000 T
3 % 1200 70

4 % 1050 w0

Question Number : 45 Question Id : 9662319695 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Il a class there are 15 students. Average marks of 5 students is 42, dwerage marks of & students is 45 and
dwerage marks of remaining 4 students is x. If the dwerdge marks of the class is 136,1'3 marks, then what is the
value of =7

Options:
1. % 55
2. % 45



2. ¥ 50
4. % 43

Question Number : 45 Question Id : 9662319695 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T FTH 15 T 81 S T30 o o16d 3 42 5, & F731 o 16T a7 45 § T2 49 4 773t o o6 <75 x 31 Fie, el o e S
136/3 % T x FTHHE FAT 57

Options:
1. % E5

2 ® 483
2. ¥ 50
4. % 43

Question Number : 46 Question Id : 9662319696 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The population of a village increases at a rate of 20% per vear. What will be the total percentage increase in
population after 3 vears?

Options:

1. ¥ 72 8 percent
2. % 70 percent
2% V1.4 percent

4. % 50 percent

Question Number : 46 Question Id : 9662319696 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T Tl & AAEedT Uiaed 20% &1 gT @ agd 1 51 o 1 o9 Wl Sae § ol ra- widad & ghg gie

Options:

1. % 72.8 uidea
2. ® 70 udaE
3 % 71 4uidead
4. % g0 Ui

Question Number : 47 Question Id : 9662319697 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If & nurmber is reduced by 20%, then it becormes 220, By what percent the nurmber should be reduced so that it
becomes 2757

Options:

1. % £ 25 percent
2. % B33 percent
2. % 125 percent
4. % 10 percent

Question Number : 47 Question Id : 9662319697 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
tes Top TEdT #1 20% & T [ A9, I7 a5 320 5T AT 51 GEA1 ®1 [hd- Wd T & FH ®eA1 120 I a5 375 5 g7



Options:

1. % .25 uidea
2. % 233 udaT
3. % 125yl
4. ® 10T

Question Number : 48 Question Id : 9662319698 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In a class, 40% of the students are in section &, 25% of the remaining students are in section B and all the
remaining students belongs to section C. If section C has 90 students, then what is the total nurmber of
students in all sections together?

Options:

1.9 200
2. % 250
2% 180

4 % 220

Question Number : 48 Question Id : 9662319698 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T YT H, 40% T @2 4 W, 99 o741 o 25% WS B # 9 9i¢ W2 C o 90 8= &, a7 &t G2t § THeer gl 1 ! §Ea7 47 57
Options:

1.9 200

2. % ZE0

3. % 180

4 % 220

Question Number : 49 Question Id : 9662319699 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A wendor sells an article for Bs. 221, If he had sold it for Bs. 82 less, then he would have incurred a loss of
20%. What is the cost price of article?

Options:

1. % Rs. 240
2 ¥ Rs 210
2. % Rs 230

4 % Hs 250

Question Number : 49 Question Id : 9662319699 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e ek T e g @1 231 20 | ST 21 Aig oy 39 63 T w0 H s, 97 9 20% & g1 B 1 oo 1 F Jrd 747 87

Options:

1. % 240 w3
= o 210 T
3 % 230w
4, % 250 w7



Question Number : 50 Question Id : 9662319700 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

1fa® +b%:a%-p® = 1241 : 217, then what iz a : b?
Options:
1.9 9
2 % 5.
2 %6
4 % 5

e I V0 I B wd |

Question Number : 50 Question Id : 9662319700 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

aira® +b¥:a®-p® = 1241 217 2 dra b T O FTE?
Options:
1.¥9:
-
3% G
4 % 5

w1 N =l A

Question Number : 51 Question Id : 9662319701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ifa|Z =b/7and Z2c: 2d = a : b, then what is 14ac : Shd?

Options:

1.¥3:7
2. %™ L7
% 3214
4 % 7.3

Question Number : 51 Question Id : 9662319701 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

a3 =bi7dm2c: 3d =a b a7 14ac: Sbd FTAF FATE?
Options:

1.¥9:7

2 % 5.7

3% 3214

4 % 7:3

Question Number : 52 Question Id : 9662319702 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Three numbers are in the ratioof 7: 10 11. The difference of squares of largest and smallest numbers is
1800 What is the half of the middle number?

Options:
1. % 10

2. %5
3. ¥ 25



4 % 1

Question Number : 52 Question Id : 9662319702 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TAEENT 7 10 11 % auTd | 71 Gae ST T97 Fef Tel TE7 3 aTi o siiel 7 3¢ LE00 81 He T TET T AT F47 27
Options:

1. % 10

2. %5

3. ¥ 25

4 % 1

Question Number : 53 Question Id : 9662319703 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wwhat will be the simple interest on a sum of Rs. 4000 for 5 yvears at the rate 20% per annurm?

Options:

1. % Rs 2000
2. % Es. 4000
2. % Rs 2000

4. % Hs. 2500

Question Number : 53 Question Id : 9662319703 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T 4000 T &1 T8 0% 20% 0id o & =2m S0 & 5 Ut @7 ST s F47 57

Options:

1. % 2000
2. ¥ 4000 T
3. % 3000 w0
4, % 2500 7

Question Number : 54 Question Id : 9662319704 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A train passes two persons walking in the same direction at speeds of 5 km/hr and 10 km/hr in 2 seconds and
4 seconds respectively. How rrach tirne the train wall take to cross a pole?

Options:

1. % 125 seconds
Z. % 12(E5 seconds
3. % 215 seconds

4. % 112 seconds

Question Number : 54 Question Id : 9662319704 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T LTS G0 Toam | & T ) T a9 10 Tor i o &1 i 5 o 18 21 cahedl @ W S Se0E 33 4 9ers # U #edT
YETIET U G ® O Ee § T a9 #r?

Options:



1.9 12(5 dgvs
2. % 135 dgng
3. % 2/5 HgvE
4 % 113 dgrz

Question Number : 55 Question Id : 9662319705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Studying 8 hours a day, Ravi can read 400 pages in 5 days. If he wants to read 600 pages in & days, then how
mAany more hours a day he needs 1o study?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.

Options:

1.6

2 4

32

4.5

Question Number : 55 Question Id : 9662319705 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
niafe 8 o wgTE F, T 400 U9 S B9 ¥ ug weaT 81 gie ag 5 T § 600 U ugr anedT 2, 97 e faa i 3@ fe O et
g AT = %Q?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:

1.6

2 4

3 2

4. =

Question Number : 56 Question Id : 9662319706 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A and B together can do a work in 15 days. B and C together can do the same in 20 days. If they get an
arnournt of RS, 1200 to complete the work together and B's share is Bs. 200, then how rmuch amount will 4 get?

Options:

1. % Es 700
2 ¥ Rz B00
2. % Hs 500

4 % Hs 450

Question Number : 56 Question Id : 9662319706 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 WrongMarks: 0.25

& TT B THeret U &1l 1 15 T # & Hefd g1 B 797 C THeiehe &0 @14 ®1 20 TS0 § & T g1 ie B1 (WA T e &
T 38 1200 =03 T0ad § T B %1 5|y 200 20 g, 97 A F1 a1 Trisr T

Options:
1. % 700 =03
= & 00w



3. ® SO0 B
4 ® 450w

Question Number : 57 Question Id : 9662319707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

If the diagonal of the face of a cube is 7/2 cm, then what is the volume of the cube?
Options:

{ « 343 cm®

> % 4942 cm?

_— 3432 cm?®

243 cm?

4 #

Question Number : 57 Question Id : 9662319707 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

IfE T U F Woleh FT @30T 72 TH. &, O O F1 3T 41 87
Options:

3
o 313 oA

. d02E A

3432 A2

-

. 243 W HAr3

4 ®

Question Number : 58 Question Id : 9662319708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Radius of base of a right circular cylinder is 10.5 cm. If the height of cylinder is twice of the radius, then what
will e the volume of the cylinder?

Options:

, w 83155 cm?

5 % 4214.6 cm?



- % 56545 cm?

3
2 72776.5 cm

Question Number : 58 Question Id : 9662319708 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
e el 141 alet] & STl i =ar 105 H AT g1 9 sletd &1 3=, F&=ar @l ST 8, 91 sleld &1 712 &40 g e

Options:

. % 8315.5F.#3

, % 42146T M3

. » 56545 H.H?

3
. 727765 W.HT,

Question Number : 59 Question Id : 9662319709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The pie chart given below shows the number of tools manufactured by a factory in various year as a
percentage of total tools manufactured by the factory in all the years.

Y1, 20

If the total tools manufactured by a factory is 2600, then what is the number of tools manufactured in the
vear Y27

Options:

1. % 3860
2 ¥ 1080
3% 1200

4. % 1440

Question Number : 59 Question Id : 9662319709 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 980

2 ¥ 1080

3 % 1200

4. % 1440

Question Number : 60 Question Id : 9662319710 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The bar graph given below shows the nurnber of coaches manufactured by the company in various rmonths.

250 1
g 200
§ 200 - 175 it
S 150 -
= 100
& 100 :
z

0 . . :
M1 M2 M3 M4
Month

MNumber of coaches manufactured in month M2 is how much percentage less the number of coaches
manufactured in month M4?

Options:

1. ® 25 percent
2. ¥ S0 percent
3. % §2.5 percent
4, % 75 percent

Question Number : 60 Question Id : 9662319710 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % 25 uidem
2. ¥ SondaT
3. % g2 T
4. % 7SudaT
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Group Id:

Group Maximum Duration :

Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Revisit allowed for group Instructions? :

Maximum Instruction Time:

Minimum Instruction Time:

Section Id :
Section Number :
Section type:

Mandatory or Optional:

Number of Questions;
Number of Questionsto be attempted:

Section Marks:

Display Number Panel:

Group All Questions:

Sub-Section Number:

Sub-Section 1d:

reneral English
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966231277
0

0

No

No

0

20

Yes

0

0

Gerneral English

966231392
1

Online
Mandatory
16

16

20

Yes

No
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966231442



Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9662319711 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

We eat (1) | three tirnes (2) | the day (2) | No error (4)
Options:
1.% 1
2. %2
R
4 % 4

Question Number : 61 Question Id : 9662319711 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it. If there is no error, choose ‘No error’.

We eat (1) | three timmes (2) | the day (3) | MNo error (4)
Options:
1.% 1
2. %2
2V 3
4 % 4

Question Number : 62 Question Id : 9662319712 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the givenl sentence that has an error in it. If there is no error, choose Mo error’.

The beggar (1) | sit down to (2) | the side of the road (3) |, No error (4)
Options:
1.%1
2. V2
3% 3
4 % 4

Question Number : 62 Question Id : 9662319712 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Find the part of the given sentence that has an error in it If there is no error, choose To error,

The beggar (1) | sit down to (2) | the side of the road (3) |, No error (4)
Options:
1.% 1
2. V2
=% 3
4 % 4



Question Number : 63 Question Id : 9662319713 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

The girl cut her hand {to) a knife.
Options:

1. % with

2 % on

3. % along

4. % No improvernent

Question Number : 63 Question Id : 9662319713 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

The girl cut her hand {to) a knife.
Options:

1. % with

2. % an

3. % along

4. # Mo improvernent

Question Number : 64 Question Id : 9662319714 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Improve the bracketed part of the sentence.

The firm was fortunate in (Secure) the fovernment's support.
Options:

1. % secures

= % zecuring

3. % secured

4. % No improvernernt

Question Number : 64 Question Id : 9662319714 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
[rnprove the bracketed part of the sentence,

The firm was fortunate in (secure) the government’'s support.
Options:
1. % serures

2. ¥ securing
3. % secured

4. % No improvernent

Question Number : 65 Question Id : 9662319715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

e got into the port before the storm ______ o1l

Options:
1. % come

2. % COmes
2. % coming

4. % came

Question Number : 65 Question Id : 9662319715 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& sentence has been given with a blank to be filled with an appropriate word. Choose the correct alternative.

We got into the port before the storm _____ Or1l.
Options:

1. % come

2. % Comes

3. % Coming

4 % came

Question Number : 66 Question Id : 9662319716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled parts. Out of the four options given, select the most logical
order of the parts to form a coherent sentence.

F: smell a5 sweet
i & rose

E: name would
5 br any other

Options:

1. % QFRS
2. % QSPR
2 ¥ QSREP
4 % QRFS

Question Number : 66 Question Id : 9662319716 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The question below consists of a set of labeled parts. Out of the four options given, select the most logical
order of the parts to form a coherent sentence.

F: smell a5 sweet
o b TOse

E: name would
5 by any other

Options:

1. % QFRS
2. % QSPR
2. ¥ OSREP



4. % CQRFS

Question Number : 67 Question Id : 9662319717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Plethora
Options:

1. % Delugs
= % Profusion
3. % Surfeit

4. ¥ Rarity

Question Number : 67 Question Id : 9662319717 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
_hoose the word that is opposite in meaning to the given word.

Flethora
Options:

1. % Deluge
2. % Profusion
2. % Surfeit

4 ¥ Rarity

Question Number : 68 Question Id : 9662319718 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that is opposite in meaning to the given word.

Arniatile

Options:

1. % Malicious

2. ¥ Disagreeable
3. % Spiteful

4. % Earthly

Question Number : 68 Question Id : 9662319718 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that 15 opposite in meaning to the given word.

Arrnable

Options:

1. % Malicious

= ¥ Dizagreeable
3. # Spiteful

4. % Earthly



Question Number : 69 Question Id : 9662319719 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
word.

Options:

1. % Antagonesm
2. % Antogonisum
2. ¥ Antagonism

4. ® Antagenism

Question Number : 69 Question Id : 9662319719 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
wiord.

Options:

1. * Antagonesmol

2. % Antogonisurm
I ¥ Antagonism

4. % Antagenism

Question Number : 70 Question Id : 9662319720 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOrd.

Options:

1. ¥ Deceptive
2. ® Decatere
2. % Deseptire

4. % Diseptive

Question Number : 70 Question Id : 9662319720 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
wordl.

Options:

1. ¥ Deceptive
2. % Decatere
2. % Deseptire

4. % Diseptive

Question Number : 71 Question Id : 9662319721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
o,

Options:



1. % Enermous
2 % Enormous
= % Enoerrmus

4. % Enorermus

Question Number : 71 Question Id : 9662319721 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In the given question, four words are given out of which one word is correctly spelt. Choose the correctly spelt
WOTrdl.

Options:

1. # Enermous
2. ¥ Enormous
2. # Encermus

4. % Enorernus

Question Number : 72 Question Id : 9662319722 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ir1 the following question, out of the Ziverl four alternatives, select the alternative which best expresses the
ITEaning of the Idicm | Fhrase.

Dog tired

Options:

1. * Fear|scare

= % Tolive within one's means
3. ¥ Exhausted

4. % Froma bad to a worse

Question Number : 72 Question Id : 9662319722 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In the following question, cut of the given four alternatives, select the alternative which best expresses the
meaning of the [dicm | Phrase.

Dog tired

Options:

1. ® Fear/scare

2. % Tolive within one’'s means
2. ¥ Exhausted

4 % Froma bad to a worse

Question Number : 73 Question Id : 9662319723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in the blank with the best suitable option.

Hehad ______ by sayirg that he would win the elections hands dowr.

Options:
1. % All ears



2. % & fish out of water
3. % Dressed smartly

4 % Tooeat a crow

Question Number : 73 Question Id : 9662319723 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fill in1 the blanlk with the best suitable option.

Hehad ______ by saying that he would win the elections hands down.
Options:

1. % All ears

= % A fish out of water

3. # Dressed srmartly

4 % Toeat a crow

Question Number : 74 Question Id : 9662319724 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

To free completely from blame.
Options:

1. % Glossary

2. ¥ Exonerate

2. #® Ecology

4. % Cellar

Question Number : 74 Question Id : 9662319724 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose the word that can substitute the given senternce.

To free completely from blame.
Options:

1. # Glossary

2. ¥ Exonerate

3. % Ecology

4. % Cellar

Question Number : 75 Question Id : 9662319725 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the Ziven sentence.

& raised place on which offerings to God are made.
Options:

1. ® Colony

z. # Inflarrmable

3% Altar



4. = Lalvo

Question Number : 75 Question Id : 9662319725 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Choose the word that can substitute the given sentence.

& raised place on which offerings to God are made.
Options:

1. ¥ Colony

2. % Inflarnmable

I ¥ Altar

4 % Eglvo

Sub-Section Number : 2
Sub-Section 1d: 966231443
Question Shuffling Allowed : Yes

Question Id : 9662319726 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension

Eead the following information carefully and answer the given questions:

Malala Yousafzai is a Pakistani activist for fernale education and the youngest Mobel Prize laureate. She is
knowr for human rights advocacy, especially the education of women and children in her native Swat Valley
in Khyber Pakhtunkhwa, northwest Pakistan, where the local Taliban had at times banned girls from attending
school. Her advocacy has growr into an international mowvermnent, and according to former Pakistani Prime
Minister Shahid Khagan Abbasi, she has become "the most prominent citizen” of the country.

Yousafzai was born to a Pashtun family in Mingora, Khyber Pakhtunkhwa, Fakistan. Her family came to run a
chain of schools in the region. Considering Muhammad Ali Jinnah and Benazir Bhutto as her role models, she
was particularly inspired by her father's thoughts and humanitarian worlk. In early 2009, when she was 11-
12, she wrote a blog under a pseudonym for the BEC Urdu detailing her life during the Taliban occupation of
Swat. The following surmmmer, journalist Adam E. Ellick made a New York Times documentary about her life as
the Pakistani rrulitary interveried i the region. She rose i profunence, giving interviews in print and orn
television, and she was norninated for the International Children's Peace Prize by activist Desmond Tutu.

On 9 October 2012, while on a bus in the Swat District, after taking an exarn, Yousafzai and two other girls
were shot by a Taliban gunman in an assassination attermpt in retaliation for her activism; the gunman fled
the scene. Yousafzai was hit in the head with a bullet and remained unconscious and in critical conditicon at
the Rawalpindi Institute of Cardiology, but her condition later improwed enough as she was transferred to the
ueen Elizabeth Hospital in Birrmmingharn, TE

Sub questions

Question Number : 76 Question Id : 9662319727 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When did Yousafzai's condition begin to improwve after being shot?

Options:

1. % While on a bus in the Swat District

2. % When the gunman fled the scene

2. % Wwhen she was transferred to the Queen Elizabeth Hospital

4. ® Wwhen she was at REawalpindi Institute of Cardiclogy



Question Number : 77 Question Id : 9662319728 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following means opposite in meaning to advocacy?

Options:

1. % Cpposition
Z % Defense

3. % Backing

4. % Urging

Question Number : 78 Question Id : 9662319729 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ev whormn was Yousafzal mainly inspired?

Options:

1. % Mother

2. % Benazir Bhutto

2. #* Muharmmad Ali Jinnah
4. ¥ Father's thought

Question Number : 79 Question Id : 9662319730 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Malala Yousafzai is the voungest laureate for which prize?

Options:

1. % The Booker Prize

2 ¥ The Mobel Prize

3. #® The Acaderny Awards

4. % The BAFTA Awards

Question Number : 80 Question Id : 9662319731 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose a word from the passage that means ‘false name’

Options:

1. * Norinated

2. % Assassination
2. ¥ Pseudonyim

4 * Intervened

Question Id : 9662319726 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (76 to 80)
Juestion Label - Comprehension



Read the following information carefully and answer the given questions:

Malala Yousafzai is a Pakistani activist for female education and the youngest Mobel Frize laureate. She is
knowr for human rights advocacy, especially the education of wormen and children in her native Swat Valley
in Khyber Pakhtunkhwa, northwest Pakistan, where the local Taliban had at times banned girls from attending
school. Her advocacy has grown into an international moverment, and according to former Pakistani Prime
Minister Shahid Khagan Abbasi, she has become "the most prominent citizen" of the country.

Yousafzai was born to a Pashtun family in Mingora, Khyber Pakhtunkhwa, Pakistan. Her family came to run a
chain of schools in the region. Considering Muhammad Ali Jinnah and Benazir Bhutto as her role models, she
was particularly inspired by her father's thoughts and humanitarian work. In early 2009, when she was 11-
12, she wrote a blog under a pseudonym for the BEC Urdu detailing her life during the Taliban occupation of
Swat. The following surmmmer, journalist Adam BE. Ellick made a New York Times documentary about her life as
the Paldastani rmilitary interverned in the region. She rose in promunence, Ziving intérviews in print and on
television, and she was norninated for the International Children's Peace Prize by activist Desmond Tutu.

o 9 October 2012, while on a bus in the Swat District, after taking an exarr, Yousafzal and two other girls
were shot by a Taliban gunman in an assassination attermpt in retaliation for her activism; the gunman fled
the scene. Yousafzal was hit in the head with a bullet and remained unconscious and in critical condition at
the Rawalpindi Institute of Cardiology, but her condition later improwed enough as she was transferred to the
Cueen Elizabeth Hospital in Birrmungharn, U

Sub questions

Question Number : 76 Question Id : 9662319727 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
When did Yousafzai's condition begin to improwe after being shot?

Options:

1. * While on a bus in the Swat District

2. % When the gunman fled the scene

2. % When she was transferred to the Queen Elizabeth Hospital

4. % When she was at Eawalpindi Institute of Cardiclogy

Question Number : 77 Question Id : 9662319728 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
which of the following means opposite in meaning to advocacy?

Options:

1. % Qpposition
2. % Defense

2. % Backing

4 % Urging

Question Number : 78 Question Id : 9662319729 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
By whom was Yousafzai mainly inspired?

Options:

1. % Mother

2. % Benazir Ehutto

2 % Muhammad Al Jinnah

4. % Father's thought

Question Number : 79 Question Id : 9662319730 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Malala Yousafzai is the voungest laureate for which prize?

Options:

1. % The Booker Prize

2. ¥ The Mobel Prize

3. #® The Acaderny Awards

4 % The BAFTA Awards

Question Number : 80 Question Id : 9662319731 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Zhoose a word from the passage that means ‘false name’

Options:

1. % Normnated

Z % Assassination
3. % Pseudonym

4. % Intervened
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Question Number : 81 Question Id : 9662319732 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T2 wreg % =9 & ug= HiR

=T
Options:

1. % Toad
2. % Tad
z % o
4 g

Question Number : 81 Question Id : 9662319732 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToT stex o &0 T ORI S

=TT
Options:

1. % dcay
2. % Tgd
3 ¥ o
4 TEae

Question Number : 82 Question Id : 9662319733 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
o arer o it T & EAT & g S O e

EEE eI
Options:

1. % aRhamE
Z % S
3. ¥ TR
4, ® FriamERE

Question Number : 82 Question Id : 9662319733 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T AT o TR T & GAT & g T g S

T F T AT
Options:

1. % zxiham=rr
2. ® EEEE
3. ¥ edREE
4, ® FridamT

Question Number : 83 Question Id : 9662319734 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



T Ty et A wET Wi A AR
g:r:+1°€l€|‘|75'

Options:

1. ¥ qeferETg
2. ¥ yAtdarg
3 % gigar
4. = 551 EEI

Question Number : 83 Question Id : 9662319734 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T M7 west | | A Fi
g:r:+ﬁ]a'|75'

Options:

1. % i
2. gfdar
3 % qiEEr
4 % it

Question Number : 84 Question Id : 9662319735 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToT T e H YT W TR W T T B ST e

TH ST g T2 T
Options:

1. ¢ e

2. ® UEEORESE

Z. ¥ HauawEe

4. ® TagEE

Question Number : 84 Question Id : 9662319735 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TomT T =Terer # YEieRd AT TR WRTE ST Wi & ST e

TH ST JEdh T ug
Options:

1. ¢ e

2. % qEIdRE

3. ¥ gauawEew

4. ® IS

Question Number : 85 Question Id : 9662319736 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Tomr T e § ol v & O e

ST & JAR-TG T & AT Wk T T U =Ttk = 3Ivg




Options:

1. % Teq

= ¥ apeed
3 % gqgr

4. % Tpaeg

Question Number : 85 Question Id : 9662319736 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Tar Ty A # ol w1 Ol d

AT & IAN-GTE H AT T T O TR - 378
Options:

1. % feg

2. ¥ T

3. % O

4. % fepaed

Question Number : 86 Question Id : 9662319737 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T&TT TIT 3122 @7 Ui T i

FetdE
Options:

1. orfema
2 % g
3 ® I

4. ® AR

Question Number : 86 Question Id : 9662319737 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T SeT T T A e

EIRr!-)
Options:

1. % giiearT
2 % g
2 %

4HW

Question Number : 87 Question Id : 9662319738 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T M7 sz %7 A e A FE

Options:
1. % gprer



2. % oy
S ® sy
4 & FreEm

Question Number : 87 Question Id : 9662319738 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T STeg @ T deg AT diFAW

ETaul
Options:

1. % @y

= % g

3. % g
4. & e

Question Number : 88 Question Id : 9662319739 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ter g =T & TR Uer IR Seg W = S

T T i g
Options:

1. % gy

2 gigmy

3. ® s
4 ® e

Question Number : 88 Question Id : 9662319739 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Ty Ty e o o U IR e T = i
Totert &g it g1

Options:

1. % amy

2. gigmy

3. % g

4 % e

Question Number : 89 Question Id : 9662319740 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TaT 1T 2T & IR 91 UgalT= Sk

I T el 5] TET A
Options:

1. % Ffara

2. % FHaRd

3. ¥ OEERT




4. % FVIIRY

Question Number : 89 Question Id : 9662319740 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T T e F AR & R
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Options:

1. % wdarg

2. % FHaEd

3. ¥ AT

4. % IYTaRd

Question Number : 90 Question Id : 9662319741 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Ta T AT I W H uga S

ot 3 AR & wET =
Options:
1. ® waf Fww

2 ¥ TH FHE
A - T e L
4 ¥ Oug WS

Question Number : 90 Question Id : 9662319741 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ToTT T e 3 W S ORI i

AT = AT & FUET WIS
Options:
1. ® F3iFRF

= ¥ T wHE
IR Tau e L=
4 % guEe wEE

Question Number : 91 Question Id : 9662319742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. % gyt
= % gy
3. ® myimeT
4. ¥ ngtgE



Question Number : 91 Question Id : 9662319742 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T e BT agerl ST B
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Options:

1. % mafient
2. % qeftmor
3. ® myiTT
4. ¥ mitgE

Question Number : 92 Question Id : 9662319743 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TA, THET, T, T 1T st o7 O die o e § 51T 37

Options:

1. % FHYEy
2. ¥ megH gEy
3 % s ey
4. ® R IEy

Question Number : 92 Question Id : 9662319743 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
qA, THET, o, T o1 eat o7 T die o 0T § 5197 87

Options:

1. ® FH q&y
2. ¥ AegH TEY
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The wrist has carpal bones.
Options:

1 ® 5
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The clavicle or collar bone is a long bone with a slight curve.
Options:

, = V-shaped

-  S-shaped

- # C-shaped

4 # L-shaped
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The most commonly fractured bone in the body is the:
Options:

1 « clavicle

» # Sscapula

% % lunate

4 = capitate
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The most commonly used vein for venipuncture is the:

Options:
1 % basilic vein

> % Ccephalic vein

% « median cubital vein

4 # dorsal metacarpal vein
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Correct Marks: 1 Wrong Marks: 0.25
The longest rib in the human body is the:

Options:

. = 5%rib
5 o TBrib
s % 8%rib

4 % 9%rib
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Irregular heart rate is called:

Options:
1 % heart failure

- u tachycardia

5 w bradycardia

4 « arthythmia
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The largest artery of the human body is the:
Options:

; = Dbrachial artery

> « aorta

5 » renal artery

4 % Dpulmonary artery
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The length of the pharynx is about:

Options:
1 % 9—1lcm
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5 o 12 - 14cm
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How many pairs of premolars are present in permanent teeth?

Options:

-
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Question Number : 110 Question Id : 9662319762 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
How many pairs of cranial nerves are present in the human body?

Options:
1 ® 10
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Which of the following is NOT an ear ossicle?
Options:

1 % Malleus



- % Incus

5 % Stapes

4 o Tympanum
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The tarsus is made of tarsal bones.
Options:

1. ® 2
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The popliteal artery is the continuation of the:

Options:
1 R anterior tibial artery

5 ® posterior tibial artery

-  femoral artery

4 # obturator artery
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The length of the female urethra is:

Options:
1 % 2cm

o o dcm



=z % 6cm

4 % B8cm
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Which part of the duodenum is the commonest site of peptic ulcers?
Options:

Lo First patt

- = Second part

- % [hird part

4, = Firstpart and second part

Question Number : 115 Question Id : 9662319767 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

72O (337f3aH) &7 HiT T AT AReF oW F AN FATT TUA 7

Options:
1« FUH AT

> R Eiaélﬂ HTAT
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The fundamental unit of life is the:

Options:
, = protein

> o cell
= % nucleus

4 ® Cytoplasm
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The power house of the cell is the:
Options:

, = cytoplasm

- = lysosome



3 « mitochondria

4 % centriole
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The fluid portion of the blood is called:

Options:
1 # interstitial fluid

- % trans-cellular fluid

- % lymph

4  Plasma
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If the bone breaks in one place and no serious damage done to the surrounding tissues, then it is called:
Options:

, = openfracture

> o closed fracture

- u complicated fracture

4 % comminuted fracture
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Correct Marks: 1 Wrong Marks: 0.25
The normal range of WBC 1is between:

Options:
1 % 1000 — 3000 cells

> o 4000 — 11000 cells



= % 12000 — 36000 cells

4 % 37000 — 48000 cells
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Question Number : 121 Question Id : 9662319773 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
The normal life span of RBC is:

Options:
, % 10days

> % 70days

= 120 days

4 = 180 days
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Correct Marks: 1 Wrong Marks: 0.25

The first line of defence against bacterial infection is:
Options:

| « neutrophil

5 % monocyte

- % basophil

4 = lymphocyte
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Correct Marks: 1 Wrong Marks: 0.25
Closure of AV valves causes:
Options:

1 « first heart sound

- % second heart sound
= % third heart sound

4 % fourth heart sound
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The normal heart rate in an adult is:
Options:

, « 10—80Dbpm

» % 90—110 bpm

120 -140 bpm

4 = 150-160 bpm
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Options:

. « 70 - 80 bpm

, % 90 - 110 bpm
. % 120 -140 bpm

, % 150 -160 bpm

Question Number : 125 Question Id : 9662319777 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 1 Wrong Marks: 0.25
The full form of ECG is:
Options:

, w Electric Cardiogram

-  Electro Cardiogram

- u Effective Cardiogram

, = Effective Cardiograph
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Correct Marks: 1 Wrong Marks: 0.25
ECG (S8 & U a1F &

Options:

, « Electric Cardiogram (saifegs Ffarams)

. » Electro Cardiogram (ZeieFer FITSaTaITH)
. « Effective Cardiogram (stfFea sFifsaram)

, = Effective Cardiograph (3%fFea sITSa1=S)

Question Number : 126 Question Id : 9662319778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many pairs of salivary glands are present in a human body?
Options:

Question Number : 126 Question Id : 9662319778 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

AT iR F 9X I Et & Gas S g 2
Options:

1_5&2

Question Number : 127 Question Id : 9662319779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Which of the following is NOT a fat soluble vitamin?
Options:
1 % Vitamin A

> o Vitamin B
%z % Vitamin D

4 % Vitamin E

Question Number : 127 Question 1d : 9662319779 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Trafetaa & O &9 3 Ia@ ﬁ'gm&ﬁﬂﬁl‘dﬁ?&'ﬂﬁ%‘?

Options:

gxﬁ?ﬂﬁT{B

Question Number : 128 Question Id : 9662319780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The deficiency of vitamin C causes:

Options:
; = night blindness

- % beriberi

5 o SCUIVY

4 % rickets

Question Number : 128 Question Id : 9662319780 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:



S_Jﬁﬁ
@ I (Rehe)

4 %

Question Number : 129 Question 1d : 9662319781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Vitamin B1 is also known as:
Options:

1 + thiamine

> % riboflavin
3 % niacin

4 = pyridoxine

Question Number : 129 Question 1d : 9662319781 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
foerfae B1 & 59 &9 & &ff J=1 04T &

Options:

Lfﬂ'l'-ﬂﬁ?-l'

Question Number : 130 Question Id : 9662319782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The volume of air breathed in and out of the lungs during quiet respiration is:

Options:



, w Inspiratory reserve volume

- % expiratory reserve volume

3 o tidal volume

4 % residual volume

Question Number : 130 Question Id : 9662319782 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AT 2TTT F ERTF BHer & o 3R I7T /g o 3R [eper = arehr gar & 3397 T

Options:

|« (FEEA IRfET 3ae) sl Red e

, x TeFEd FRAT 3Taw (el fea amae)
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4 % HATSE HTTIA

Question Number : 131 Question 1d : 9662319783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Lack of oxygen at tissue level is called:

Options:
; = dyspnoea

- % apnoea

5  hypoxia

4 w hyperventilation

Question Number : 131 Question Id : 9662319783 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 132 Question Id : 9662319784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The basic functional unit of the Kidney is the:

Options:
1 ® neuron

- u lung

z % brain

4  nDephron

Question Number : 132 Question Id : 9662319784 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
L
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Options:

4 o AW

Question Number : 133 Question Id : 9662319785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Vasopressin is also called:

Options:



. w prolactin

5 % growth hormone

3 o anti-diuretic hormone

4 = OXytocin

Question Number : 133 Question 1d : 9662319785 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

TrENfaa & o7 & F7r Far &
Options:

1.£§ﬁﬁﬁm
o
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i

4 % HATFAETET

Question Number : 134 Question 1d : 9662319786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The unit for the measurement of illuminating power of a source of light is:

Options:
1 % kelvin

> % mole

% « candela

4 % ampere

Question Number : 134 Question 1d : 9662319786 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

T FRTAT H 9Eraes oafda & 717 & 5515 &

Options:



Question Number : 135 Question 1d : 9662319787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Name the instrument which is used to measure the potential difference between any two points of a conductor or any
part of a circuit.

Options:
. w Super conductor

> « Voltmeter

-  Magnetic flux

4 = Electromagnetic induction

Question Number : 135 Question Id : 9662319787 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
39 I9 & A1 qaC fH@w J3@9T ve G (FEFe) & e off & et & g ¥ R o oftoy
(@fFe) & ol amr = A=A & B S S

Options:
. Hic=mers (F9R H5a)

E_tfm

i Tehra HiEEE (HAfes Fowd)

o Tega-greshra W7 (FFgHTARE S3a)

Question Number : 136 Question Id : 9662319788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which ray is NOT emitted by radioactive substances?



Options:
, = alpha
> % beta

5 % gamma

4 « delta

Question Number : 136 Question 1d : 9662319788 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
| % 3ol

gwm
=z % 9MAT

4 v SodT

Question Number : 137 Question 1d : 9662319789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
X-rays were discovered in the year:

Options:
; % 1865

4 & 1895

Question Number : 137 Question Id : 9662319789 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Fa 99 § vag-Y & @ H T2

Options:

. % 1865



. % 1875
5 % 1885

4 « 1895

Question Number : 138 Question Id : 9662319790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The SI unit of power is:
Options:

1 % candela

= o Wwatt

o @ ampere

4 % centimetre

Question Number : 138 Question Id : 9662319790 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

o $r S| s &
Options:

1.%3%3”'
o o dlC

Swm
4w WA

Question Number : 139 Question Id : 9662319791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the half-life of cobalt-607
Options:

LA

| % .56 years

Ly

: 7 i
5 of .26 years



LAy

.76 years

LAy

.86 years

Question Number : 139 Question Id : 9662319791 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

FIETee-60 FT T ST FT 22

Options:

. % 5.56 I
> 5.26 9§
- % 5.76 9%

4 % 5.86 I¥

Question Number : 140 Question Id : 9662319792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Isotopes have

Options:
1 « same atomic number

5 # same mass number
= % different atomic number

4 % same number of neutrons

Question Number : 140 Question 1d : 9662319792 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 141 Question Id : 9662319793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Which of the following is a powerful radiosensitizer?
Options:

LW Oxygen

> w Nitrogen

5 = Hydrogen



4 % Carbon

Question Number : 141 Question Id : 9662319793 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

e F O FiF v afFquaeh B g3 32

Options:

1.9 HTFHTSA

Question Number : 142 Question Id : 9662319794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which material has the highest number of electrons per gram?

Options:
, « Hydrogen

> % Carbon

5 % Oxygen

4 % Aluminium

Question Number : 142 Question Id : 9662319794 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
frg gerer & 9T o7y soeeET S I mEY s 37

Options:

| v EEESE



UeTHITATH

4 % 3

Question Number : 143 Question Id : 9662319795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
How many rad equals o one mentgen?

Options:
1 ® 0.786

> % 0.676

5 « 0.876

Question Number : 143 Question Id : 9662319795 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
U Feedld H fhde 35 ged g 87

Options:

% 0.786

., = 0.676
- v 0.876

, = 0.576

Question Number : 144 Question Id : 9662319796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Photo-electric effect is directly proportional to:

Options:

, % (atomic nuizublerj‘a2

> % (mass 111,1:r:11‘t:-rerj2

Lad

-  (atomic number)



4 % (mass nu,ﬂl‘t)rerj3

Question Number : 144 Question Id : 9662319796 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
geTel faegd wara (Pler-gefaes woima) faesr &1 drar sregarfaes g
Options:

1_33{ .:4+ :2

L« (GEEHAT FEmn)?

Wmﬂ‘ 3
S.J'{ =2

4 % (GUHT Tea)?

Question Number : 145 Question Id : 9662319797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Distortion results from unequal magnification of different parts of:
Options:

|  same object

- u different object

- u Close object

4 » distant object

Question Number : 145 Question Id : 9662319797 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 146 Question Id : 9662319798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following methods is NOT used to control radiation exposure levels?

Options:
1 % Distance

~ « Calculation
z % Time

4 % Barrier

Question Number : 146 Question Id : 9662319798 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

L

5 o F0TAT

SMM

. IO (FTER)

4,

Question Number : 147 Question Id : 9662319799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
1 calorie of heat is equal to:
Options:

A :
, o 4.2 joules

> # 2.4 joules



- w 3.6 joules

4 = 6.3 joules

Question Number : 147 Question Id : 9662319799 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

L h2SE

2.4 &

o R

3.6 S

3 ®

6.3 S

4 ®

Question Number : 148 Question Id : 9662319800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
What is the symbol for tungsten?
Options:

8 Tu

o of W

Question Number : 148 Question Id : 9662319800 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ZITESA T Jalsh 4T g7
Options:
1 ® Tu

o W
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Question Number : 149 Question Id : 9662319801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which 15 the maximum number of electrons in the L Shell of an atom?
Options:

> o 8

Question Number : 149 Question Id : 9662319801 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
foret wamor & L O & sowear fr 3eaw e fhaer @ 87

Options:
1 ® 2

> 8
3&312

4 ® 26

Question Number : 150 Question Id : 9662319802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The full form of ARSAC is:

Options:

, = Active Radiation Substance Advisory Committee

- % Active Radiation Source of Active Committee

5  Administration of Radioactive Substances Advisory Committee

Administration of Radiation Source of Advisory Committee

o
5



Question Number : 150 Question Id : 9662319802 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ARSAC &T J0T ¥9 g
Options:
. » Active Radiation Substance Advisory Committee (tfea If3vers wewera vsasaill #Ad)

, % Active Radiation Source of Active Committee (Tfaea ¥f3ves B 1% tides FEd)

Administration of Radioactive Substances Advisory Committee (TR 31w Eoeles garew
5  USATSSHT A

Administration of Radiation Source of Advisory Committee (TSfARTeT 3TF fEves A1 3%
.« USSTESY A

Question Number : 151 Question Id : 9662319803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Genetic effects are referred to as:
Options:

1 % deterministic effect

» « stochastic effect

5 » early effect

4 % somatic effect

Question Number : 151 Question Id : 9662319803 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
a9 & A ' & wefia foear e
Options:
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Question Number : 152 Question 1d : 9662319804 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Half-life of I-131 is:

Options:

| o Sdays

33.3 days
30 days

18 days

Question Number : 152 Question Id : 9662319804 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
-131 &7 3T a5 &

Options:

1_\,:-81:&?1'
- » 33.3 f&=T
2 % 30 fe=
4 % 18 ot

Question Number : 153 Question Id : 9662319805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

In case of chronic exposure, what is the threshold dose for cataract?
Options:

4 Gy

p-

5 % 3 Gy

4 R 2Gy



Question Number : 153 Question Id : 9662319805 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
ST HAEOT (FIFEF THFEGSR) F AHS H, Alqarag & T THEHEEAT (F20158) FIF FI4T 82

Options:

;= 4 Gy

E_JSGy

s x o QY

4 % 2 Qy

Question Number : 154 Question 1d : 9662319806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which radionuclide is frequently used to demonstrate the nature of radioactive decay?

Options:
1 % Cobalt 60
> o Indium 116

%z % Strontium 90

4 % Calcium 45

Question Number : 154 Question Id : 9662319806 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

YR 87T F T H TGRS B H o T hE USACIFASS H ST ThAT AT 82
Options:

| = Hiaree 60

, » S3TH 116

. « FEIeaH 90

g # % =2aH 45

Question Number : 155 Question Id : 9662319807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Absorbed doses are expressed in units of:

Options:
1 % Joule

> u Kilogram

%z % Miles

4 o Grays

Question Number : 155 Question Id : 9662319807 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 156 Question Id : 9662319808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The full form of ICRP is:

Options:

1 % International Continuous Radioactive Process

- % International Commission on Radioactive Process

-  International Commission on Radiological Protection

, = International Committee of Radiological Protection

Question Number : 156 Question Id : 9662319808 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ICRP T 90T &9 &



Options:
.« International Continuous Radioactive Process (IS HiegHy AT JEH)

, » International Commission on Radioactive Process (SSTeTTer AT 3T EaeFes 989)
International Commission on Radiological Protection (SeIaeiTel FHEMeIT 3T IETATSHRar qewFer)

International Committee of Radiclogical Protection (SeIaerel THEr 3TF TRl SrEaer)

4 ®

Question Number : 157 Question Id : 9662319809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Scoliosis is an abnormality in the:

Options:
1 % femur

o o Spine

z % skull

4 % EYes

Question Number : 157 Question Id : 9662319809 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

ATl (ERTaaad), T TF FHHSITT 2
Options:

| % BT (F)

> v T (TE)

5 % Al (Fhd)

Question Number : 158 Question Id : 9662319810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Doppler in ultrasound is used to detect:

Options:



1 # bone lesions
> « blood flow within arteries
= % muscle lesions

4 % skin lesions

Question Number : 158 Question Id : 9662319810 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
HEETABE H SM9e & 39497 T 94T o= & o fBar s gl

Options:
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Question Number : 159 Question Id : 9662319811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Gradient coils are used in:
Options:

1. % CT scans

X-rays

Question Number : 159 Question Id : 9662319811 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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o ® W'i-
. v THINETE (MRIs)

, « TS (USGs)

Question Number : 160 Question Id : 9662319812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The radiation weighing factor for alpha particles is:
Options:

1_-&»&1

Question Number : 160 Question Id : 9662319812 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
3w U & v &fETor T #Fee (radiation weighing factor) #:

Options:

1 * 1
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Question Number : 161 Question 1d : 9662319813 Question Type:

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

The full form of GSD is:
Options:
, « Genetically Significant Dose

- % Gene Source Dose

= # Gene Source Development

4 = Genetically Significantly Development

Yes

Discipline
966231397

1

Online
Mandatory
20

20

20
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No
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966231449
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MCQ Option Shuffling : Yes Display Question Number : Yes

Question Number : 161 Question Id : 9662319813 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 1 Wrong Marks: 0.25

GSD & 9T &9 §&:

Options:

. » Genetically Significant Dose (S#femenr fAfFafthee si+)

Gene Source Dose (3= TF =19)

> R

- » Gene Source Development (S T STa98T)



, » Genetically Significantly Development (S/afeerer fAFATRFRes Saeae)

Question Number : 162 Question Id : 9662319814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The breast cancer susceptibility gene is:

Options:
; ® BRCAI

> % BRCA2
s % BRCA3

4 v BRCAI and BRCA2

Question Number : 162 Question Id : 9662319814 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
& FET FT ey S (susceptibility gene) g
Options:

. % BRCA1
, « BRCA2

. » BRCA3

4 v BRCA1 3k BRCA2

Question Number : 163 Question Id : 9662319815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The full form of AERB is:

Options:

, « Atomic Energy Regulatory Board

All Emission Regulatory Board

M
51

Atom Effect Regulatory Board

4 % Atom Emission Rule Board



Question Number : 163 Question 1d : 9662319815 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
AERB & 0T &9 §:

Options:

, » Atomic Energy Regulatory Board (eIt TSl EeredT &1s)

s All Emission Regulatory Board (3Ter @@= Tl %)

. » Atom Effect Regulatory Board (vea shae Fleied ars)

, » Atom Emission Rule Board (Te# tffaes wo &15)

Question Number : 164 Question Id : 9662319816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The radiation effect produced in exposed individuals during their lifetime is called:

Options:
1 « somatic effect

-, u genetic effect

- % fetal risk

4 % deterministic effect

Question Number : 164 Question 1d : 9662319816 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 165 Question Id : 9662319817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The recommended effective radiation dose limit for occupational people is:
Options:

% 150mSv/year

500mSv/year

M
®

5 o 20mSv/year

4% 2mSv/year

Question Number : 165 Question Id : 9662319817 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
s wne & e srgerfae e Rfeor gus @ g
Options:

. % 150 mSv/a¥
> % 500 mSv/a¥
= v 20 mSv/AY

4 % 2 mSv/E¥

Question Number : 166 Question Id : 9662319818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
TLD badge is a:

Options:
| « Dbersonal monitoring device of radiation

5 #% gamma radiation meter

z % electron emitter



4 % Dositron emitter

Question Number : 166 Question Id : 9662319818 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 167 Question Id : 9662319819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The biggest contributor of terrestrial radiation is:

Options:

i « Rn-222
5 % U-238
= % I[-121

4 % Ca-60

Question Number : 167 Question Id ;: 9662319819 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 168 Question 1d : 9662319820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

‘What does PSP stand for?

Options:

, = Phosphorescence Stimulated Phosphor

- » Portable Sony PlayStation

5 « Photo Stimulable Phosphor

4 = Photomultiplier Scanning Plate

Question Number : 168 Question Id : 9662319820 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

PSP & qoT 9 &7 g7
Options:

i Phosphorescence Stimulated Phosphor (FIERRIEHE feaqeres HIERT)

. » Portable Sony PlayStation (ArEET HAT To-Fee)

. Photo Stimulable Phosphor (PrET TEHTS BIEw)

, « Photomultiplier Scanning Plate (BIEHeECHIT FohfaleT TolT)

Question Number : 169 Question Id : 9662319821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Barium swallow is the radiography evaluation of the:

Options:
, « Oesophagus
- % stomach

= % small intestines

4 = large intestines



Question Number : 169 Question Id : 9662319821 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
aftas faeror (T3, &1 ISR oo g

Options:

| v THAA (FHGTH)

5 % STTHRE
= B Eﬁﬁ'}ﬁﬁ'

., x T8 3

Question Number : 170 Question Id : 9662319822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In a double contrast barium enema. which of the following is injected rectally?

Options:
1 % Water and barium

- % Jonic conftrast and water

5  Alr and high density barium

4 % Water and ionic contrast

Question Number : 170 Question Id : 9662319822 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 171 Question Id : 9662319823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The contrast used in bronchography is:

Options:
, « dianosil acqueous

> % iohexol

5 » Dbarium sulphate

4 = urografin

Question Number : 171 Question Id : 9662319823 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 172 Question Id : 9662319824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Myelography is the term applied for radiologic examination of the:

Options:
1 % brain
-  Spinal cord

gall bladder

4 % liver

Question Number : 172 Question Id : 9662319824 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 173 Question 1d : 9662319825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Townes view 1s:

Options:

1 % submentovertical view of skull

> % sella turcica view of skull
-  Ironto occipital 30° caudal view

4 # optic foramina view

Question Number : 173 Question Id : 9662319825 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
T T &
Options:

| % Ol @ HEACIE[CH T2 (submentovertical view)

o % arel @l Hel e 797 (sella turcica)

. ‘J—ET Eﬂmﬁﬁ 30° quEEH - F {Cauda[ uiew}

, « HIeZH BRIAAT (optic foramina) TeF

Question Number : 174 Question Id ;: 9662319826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25



Resolution of the images are measured in:
Options:
, = centimetres per second

> = Cycles per second

5 o line pairs per millimetre

4 = line per centimetre

Question Number : 174 Question 1d : 9662319826 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 175 Question 1d : 9662319827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
In interstitial implant the radioactive sources are inserted directly in the:

Options:
1 % bone

o % organ

3 o tissue

4 % skin

Question Number : 175 Question 1d : 9662319827 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 176 Question Id : 9662319828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Intracavitary therapy is mainly used for cancer of the:

Options:
; = lungs

> % stomach

3 o Cervix

4 % intestines

Question Number : 176 Question Id : 9662319828 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 177 Question Id : 9662319829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Brachytherapy sources of gold—198 is available in the form of:

Options:



1 ®% Wwire
> o seeds
= % tubes

4 % rods

Question Number : 177 Question Id : 9662319829 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 178 Question Id : 9662319830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The material which absorbs and scatters the radiation in the same way as tissue is:

Options:
1 % bolus

-  Pphantom

%z % accelerator

4 % electron beam

Question Number : 178 Question 1d : 9662319830 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 179 Question 1d : 9662319831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The linear accelerators are capable of producing radiation energy greater than:

Options:
| o 1IMeV

5> % 2MeV
5 % 3MeV

4 % AMeV

Question Number : 179 Question Id : 9662319831 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. v 1 MeV

> % 2 MeV
2 % 3 MeV

4 % 4 MeV

Question Number : 180 Question Id : 9662319832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
The full form of SSD is:
Options:

1 % Self of Skin Direction

> # Source of Self Distance



% # Self to Source Direction

4 « Source to Skin Distance

Question Number : 180 Question Id : 9662319832 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. Self of Skin Direction (¥ 1% [Thal STHFU)

, « Source of Self Distance (H1¥ 3% ¥ow BFw)

. Self to Source Direction (#+F g Y STIE)

>

, » Source to Skin Distance (@ T T BEm)
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Question Number : 181 Question 1d : 9662319833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Half-life of Radium—226 is:
Options:

; % 17 days

5 % 30 vyears

5 1622 years

w 2.7 days

Question Number : 181 Question Id : 9662319833 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 182 Question Id : 9662319834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Stenvers view is for visualizing the:
Options:

1 % mastoid bone

-  Dpetrous bone

s % PNS

4 % skull lateral



Question Number : 182 Question 1d : 9662319834 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 183 Question Id : 9662319835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Wedge filter is also called:

Options:

, = source specification

> % exXposure rate constant

5  beam modifying device

4 % surface mould

Question Number : 183 Question Id : 9662319835 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 184 Question Id : 9662319836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The x-rays produced at a potential below 20K Vp is called:
Options:

, = contact therapy

5  Grenzrays therapy

5 % Chaoul therapy

4 = Deep therapy

Question Number : 184 Question Id : 9662319836 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 185 Question 1d : 9662319837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The maximum permissible radiation dose for occupationally exposed individuals is:
Options:

L& 5 rem/year

5 % 10 rem/vear

5 % 15 rem/year

4 w 1 rem/year

Question Number : 185 Question 1d : 9662319837 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25

A & § FAaia safdad # o sftean seaa fafesor gues &
Options:

, « 5 rem/@ay

> % 10 rem/as
s % 15 rem/a¥

4 % 7 rem/@y

Question Number : 186 Question Id : 9662319838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a criterion for classification of hospitals?

Options:
, = According to type of service provided
According to ownership

5  According to infrastructure

According to the duration of stay

o
5

Question Number : 186 Question Id : 9662319838 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 187 Question Id : 9662319839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a major principle of Hospital Management?
Options:

, = Unity of command

> % Span of control

- # Delegation of authority

4  Adjustment as necessary

Question Number : 187 Question Id : 9662319839 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 188 Question Id : 9662319840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

The records management website is maintained by the:
Options:

, = data protection officer

- u Operational health record manager

5 » health record manager

g data quality manager

Question Number : 188 Question Id : 9662319840 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 189 Question Id : 9662319841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Under which category of confidential records do hard drive embedded software, CDs and DVDs feature?

Options:
1 ® A

2_&@3
z % C

4.« D

Question Number : 189 Question Id : 9662319841 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 190 Question Id : 9662319842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Steam sterilization was discoverad in:
Options:



, % 1850
> « 1880
5 % 1890

4 % 1900

Question Number : 190 Question Id : 9662319842 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

. % 1850
- « 1880
5 = 1890

, = 1900

Question Number : 191 Question Id : 9662319843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Who introduced the concept of diagnosis. prognosis. physical examination and prescription?
Options:

1 # Ummem

-  Babylonian

- = Hippocrates

4 % Charaka

Question Number : 191 Question Id : 9662319843 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 192 Question Id : 9662319844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

Sharps including glass ampoules is disposed by means of:
Options:

; = recycling

- = landfill disposal

3 ¢ incineration

4 % sterilization

Question Number : 192 Question Id : 9662319844 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 193 Question Id : 9662319845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

MRSA (Methicillin-resistant Staphvlococcus aureus) is a:
Options:

1 % virus



> o bacterium

- = fungus

, % protozoan

Question Number : 193 Question Id : 9662319845 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 194 Question 1d : 9662319846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Neonate is a term used to describe a baby:

Options:
1 ® requiring mtensive care

- » under one year

= #% under one week

4 + under one month

Question Number : 194 Question Id : 9662319846 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 195 Question Id : 9662319847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25

A hospital requires to check and understand the applicability of the standard clauses for the institution. In India, all the
hospitals have been certified for:

Options:
1 ® ISO 9000
> % ISO 9001

=« IS0 9002

4 % ISO 9004

Question Number : 195 Question Id ;: 9662319847 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Options:

|« HETHE3T 9000
, w HTSTH3T 9001
5 o JETHEIT 9002

, » ETHEAHT 9004

Question Number : 196 Question Id : 9662319848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is a management function?
Options:

| « Planning



»  Knowledge

= % Goal

4 u Selecting

Question Number : 196 Question Id : 9662319848 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 197 Question Id : 9662319849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
With regards to patients in delirilum/confusion. which of the following should NOT be done?

Options:
1 % Protect them from harm

> % Never leave them unsupervised

Speak in a calm voice

4  Avoid giving reassurance

Question Number : 197 Question Id : 9662319849 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 198 Question Id : 9662319850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
Which of the following is NOT a contraindication for intravenous urography?

Options:
| % Iodine sensitivity

5 % Pregnancy

=z % Renal failure

4  Hypertension

Question Number : 198 Question Id : 9662319850 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 1 Wrong Marks: 0.25
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Which of the following is NOT a contraindication for MRI?
Options:

, = Patients with a cardiac pacemaker



-  Patients with non-metallic clips

- » Patients with metallic prosthesis

, = Patients with a life support system
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The formation of clots inside blood vessels is called:
Options:

1 % Necrosis

- « thrombosis

5 # hyperplasia

4, = degeneration
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